e

CD:.MD; 88 0. 5—16 [FEBTNZE S
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CD, B 0.5 -5 (RASE6_9 %) Cnﬂo.s—swﬁﬁ?grgm—sm&)
Model CD; 0.5 — 5t(Hoisting 6 —9m) Model CD; 0. 5 —5t(Hoisting 12 —30m)

CO.-ZE10M(EASE9-30%) EE (CDy)
Model CD: 10t(Hoisting 9 — 30m) Stationary (Model CD,)

MD: 8 0.5-5 i (EHSE6-9 %) MD, B 0.5-5 M (BBFASE 12 -30 %)
Model MD; 0. 5 — 5t(Hoisting 6 —9m) Model MD, 0.5 — 5t(Hoisting 12 —30m)
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CDy MD; Type 0. 5-161 Electric Hoist

BRE

H

MD, BIEEX
Model MD; Stationary

MD; E 10 M (BF B E 9 -30 %)
Model MD, 10t(Hoisting 9 - 30m)

YZE 20 M (EFFE 12 X)
Model YZ20t(Hoisting 12m)

CD:&® 0251 -D
Model CD; 0.25t-D

EEX CD & 0.25 1 - A
Model CD, 0. 25t — A Stationary
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